How Responsible . %
Aquaculture can contribute E=N=-
to the UN’s Global

Sustainable Development

Goals (SDGs)

Annex Two

Benchmarking ASC’s SDG
contributions against those
of non-veriafiable and non-
transparent aquaculture
operations:

Gap Analysis Matrix

2022



How do ASC programme versus non-transparent aquaculture operations
verifiably address the SDGs?

(2022 edition; See Methodology for scope, details of calculation and colourings)
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Aquaculture SDG Direct rating
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+ Indirect)
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Contribution
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